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PART A: Vocabulary

Dfr::ctfrm.\‘: Choose the word or phrase (1), (2), (3), or (4) that best completes eacfl

sentence. Then mark your answer sheet.

1- Being an honest person, she was unwilling to ---------- Peter in the swindle he had
planned.
1) confirm 2) abet 3) jeopardize 4) impede

2- The girl is surrounded by so many possessions that testity to her family's —-------- "
I) opulence 2) activism 3) propensity 4) elitism

3- The physician advised the ------—- -- man to lose weight if he wanted to not be afflicted
with different medical complications.
1) craven 2) sturdy 3) immense 4) obese

4- Enlightened slave owners were willing to ------—--- their slaves and thus put an end to
the evil.
1) initiate 2) emancipate 3) eftace 4) reject

5- One of the most striking aspects of Indian cultures was the production of ceremonial
costumes and ornaments worn during religious -—--———-- .
1) rituals 2) subtleties 3) fashions 4) prefaces

0- The Clarks’ -—------- spending habits have put them in debt.
1) extemporaneous 2) divisive 3) extravagant 4) passionate

7- The people who had lost their homes in the fire tried to - whatever was
salvageable from the ruins of that fire.
1) confront 2) extinguish 3) exclude 4) glean

8- The new study will test different doses for safety. And scientists should be able to tell if
the antibodies -----=--- some of Alzheimer’s devastating mind-robbing symptoms,
I) emerge 2) predict 3) alleviate 4) precede

9- Coaches often tell their players that a little nervousness is good because it keeps them
on their ----

1) limbs 2) toes 3) fingers 4) feet
10- Without liquids or food, people typically -—-——- after 10 to 14 days.
1) diminish 2) recede 3) talter 4) perish

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

Like most people. students tend to be overconfident about newly learned skills. This self-
assessment problem can occur because the common educational practice of “massed training™
promotes rapid acquisition of a skill—and self-confidence—but (11) —=-=maeem- retention of that
capability. In mass training, instructors teach students in one or a few intense sessions.

Students (12) —==-==---- such instruction quickly obtain the relevant knowledge. Yet skills taught
in this way tend to decay rapidly, (13) === -- people remain unaware of this fact. (14) ~==-=--
more evident than in driver education. Although millions of dollars (15) ——-------- on such
courses, they do not. the data suggest. produce safer drivers.
11- 1) not necessary for the 2) necessarily none of the

3) not necessarily the 4) for no necessary
12- 1) undergo 2) undergone 3) by undergoing 4) undergoing
13- 1) although 2) however 3) so that 4) then
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14- 1) Nowhere might this problem be 2) This problem nowhere might be
3) Nowhere might be this problem 4) Nowhere this problem might be
15- 1) spent 2) are spent 3) being spent 4) that are spent

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheel.

Passage 1:

Pure metals give up their latent heat of fusion and solidify at a single temperature. During the
carly stages of solidification, the temperature may fall slightly below the melting point of the
metal. This phenomenon is referred to as supercooling or undercooling. During supercooling
the freezing process is arrested. because not enough heat of fusion is released from the liquid to
sustain a transformation from liquid to solid. When solidification does begin. the temperature
recovers to the melting point temperature and remains constant until all of the metal has
completed the transformation to the solid state. A slightly different cooling curve can be
observed when the molten metal includes some minute solid impurities. These impurities
promote solidification by serving as nucleation sites. such that free-moving atoms can anchor
themselves onto these impurities, Therefore only some undercooling may occur when the melt
includes such impurities.

Select the correct expression about latent heat of fusion?

1) May increase during solidification.

2) Increases solidification temperature.,

3) Is released during solidification.

4) Is the major cause of the anchoring the atoms to impurities.

What is the difference between supercooling and undercooling?

1) Supercooling and undercooling would increase and decrease the melting point respectively.
2) Supercooling refers to pure metals but undercooling to metals with slight impurities.
3) Supercooling and undercooling are the same.

4) Supercooling is higher than undercooling

During undercooling,

1) The temperature may rise slightly over the melting point of the metal.

2) The temperature of the melt is constant.

3) The liquid to solid transformation continues.

4) The solidification process is suppressed.

Which statement is correct?

1) Supercooling in pure melts is more than in impure metals

2) Impurities result in increasing the supercooling.

3) Supercooling occurs only in pure metals

4) Undercooling occurs only in impure metals.

What is the role of impurities?

1) Postponing solidification 2) Anchoring the solidification process.
3) Increasing the undercooling. 4) Acting as nucleation sites.
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Passage 2:

When we refer to primary metal production. we mean metal that is produced from ore found in
deposits in the earth's crust. Secondary production indicates material acquired through
recycling. Potential recyclable metal waste can be divided into two types of scrap: new scrap
and old scrap. New scrap is composed of the leftover materials generated during production.
For instance. as circular tops and bottoms from aluminum beverage cans are punched out from
an aluminum sheet. there will be leftover material that qualifies as new scrap. Old scrap is
metal recovered from recycled consumer products. including the finished beverage cans
themselves.

The aluminum can was introduced in the early 1970s. and initially the public treated aluminum
cans as a discardable product. However, by the late 1970s recycling of aluminum cans began
to take off as the industry and public saw the environmental and economic advantage of
recyveling.

What is the difference between primary and secondary metal production?

1) Earths crust 2) Base materials

3) Purity of the products 4) Final applications

New scrap is mainly...

1) Surplus materials

2) The same as old scrap

3) Circular tops and bottoms from aluminium can.

4) Aluminum cans

What is the benefit of aluminum cans recycling?

1) It is only a public saw 2) It has economical profits

3) It is an old scrap 4) Public treated aluminium cans

Which statement is correct?

1) New scrap qualifies for leftover matericals,

2) During the production of aluminum cans, the aluminum sheet is discarded completely.
3) Punching is not a reasonable treatment for producing aluminum cans.

4) Punching the aluminum sheets for producing aluminum cans would result in new scrap.
The recyeling process of old and new scraps of aluminum:

1) Is of economic advantage. 2) A proverb

3) Is composed of the leftover materials. 4) Is generated during the production.

Passage 3:

A cheap and effective water filter has been made from the sapwood of pine tree branches
Researchers found that xylem-the porous transport tissue in plants-filters microbes from water.
making it safer to drink

Lead researcher explains that xylem tissue allows sap to flow through it while preventing
the spread of vapour bubbles. Xylem's structure comprises closed end conduits (tubes)
arranged in parallel. with membranes connecting adjacent conduits. The porosity of the
membranes that trap these bubbles is in the same range required to filter microbes from water-
essentially making the xylem tissue a filter material.
Having studied the xylem structures of several species, the team settled on pine conifers, as the
conduits are short and constitute most of the sapwood. This makes it easy to isolate the xylem
and enables the construction of thinner filters compared to that from other types of plant. The
process of creating these filters is straightforward. Simply take a branch of pine. peel off the
bark, clamp it onto a tube and flow water through the sapwood using pressure. This is not
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recommended as a replacement for certified filters but it does provide a method to make water
safer to drink.

The aim, however. is not to provide rustic filters for parched Scouts. The technology
performs too well for that. So far, the pine sapwood has been used to filter out about 99.99% of
E. coli bacteria from water. The intention is to create low-cost, replaceable xylem filters for
portable devices.

How does xylem make water safer to drink?

1) It lets water pass while blocking the passage of microbes.

2) It prevents the spread ot vapour bubbles.

3) It has made a cheap and effective water filter.

4) It is made from the sapwood of pine trees.

What does the structure of xylem look like?

1) Tissue that allows sap to flow through but prevents bubbles to pass.
2) An array of tightly packed parallel tubes.

3) Tubes connected with membranes.

4) Closed-end conduits.

Why did the researchers opt for pine conifers?

1) Because they had studied xylem structures of other specimen.

2) Because most of the conduits are constructed trom short sapwood.
3) Because thinner filters could be constructed.

4) Because sapwood is short.

How does the water filtered through sapwood compare with water filtered by
commercially available purifiers?

1) The filtrate of commercially available filters is of better quality.
2) Sapwood water will be safe to drink in a few years time.

3) Certitied filters do not recommend sapwood water.

4) Sapwood is not suitable for parched Scouts.

What is the optimal aim of the research team?

1) Provision of cheap and readily available water filters.

2) Construction of portable devices.

3) Filter out all E. coil bacteria [rom water.

4) Devising a technology that does not perform too well.
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